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Questions

Choose the correct option according to the grammar

................................. ment” is a

Choose the correct option according to the grammar

Which of the following is a prefix?

Choose the correct option according to the grammar

There has not been sufficient rain this yar. The underlined word is an adjective of.

Choose the correct option according to the grammar

Heis eligible ..........cccooiviiiiin. this post. Use proper preposition in the
balank.

Choose the correct option according to the grammar

Complee theword “...................o. happy” choosing the corret prefix

Choose the correct option according to the grammar

Ilike to see a smilling face. The underlined word is a/an

Choose the correct option according to the grammar

It is advisable to get the correct information form the university office. The underlined
word is a/an

Choose the correct option according to the grammar

She gave me false information. The underline dword is a/an

Choose the correct option according to the grammar

The worst is

Choose the correct option according to the grammar

this is avery informative seminar. The underlined word is a/an

Choose the correct option according to the grammar

................................... It was raining we went for a walk

Answers Choice

A. <p>word</p>
B. <p>prefix</p>
C. <p>suffix</p>
D. <p>root word</p>

<p>in-</p>
<p>-ful</p>
<p>-tion</p>
<p>-able</p>

oow>

<p>origin</p>
<p>quantity</p>
<p>color</p>
<p>quality</p>

oow>

. <p>to</p>

. <p>for</p>

. <p>of</p>

. <p>with</p>

o0 w>

. <p>in</p>
. <p>il-</p>
<p>un-</p>
<p>im—</p>

oowp

. <p>adverb</p>

. <p>preposition&nbsp;</p>
. <p>Pronoun</p>

. <p>Adjective</p>

OO w>

. <p>Adverb</p>

. <p>Article</p>

. <p>Adjective</p>
<p>Noun</p>

oo WP

. <p>noun</p>

. <p>adverb</p>

. <p>adjective</p>
. <p>pronoun</p>

OO w>

A. <p>Positive degree of an
adjectie</p>

B. <p>comparative degree of an
adjective</p>

C. <p>superlative degree of an
adjective</p>

D. <p>no degree of an adjective</p>

. <p>adverb</p>

. <p>noun</p>

. <p>adjective</p>
. <p>pronoun</p>

OO w>

. <p>Although</p>
. <p>because</p>
. <p>as</p>

. <p>but</p>

o0 w>
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Choose the correct option according to the grammar

Which of the following is pair of correlative conjuctions.

Choose the correct option according to the grammar

Hesat..........coceenene. his freinds
Choose the correct option according to the grammar
What kind of conjunction is used in the sentence.

“If they put the sun in my right hadn. | shall not abandom the truth”

Choose the correct option according to the grammar

“Slowly” is an adverb of

Choose the correct option according to the grammar

Identify the gransitive verb in the sentence “Her recited the vses to the people”

Choose the correct option according to the grammar

He was died............... cance. Use preoper preposition

Choose the correct option according to the grammar

Which of the following is quantitative adjective.

Choose the correct option according to the grammar

They have finished their homework. The underlined wor dis a/an

. <p>so -that</p>
. <p>Althought because</p>

w >

D. <p>and -but</p>

A. <p>on</p>

. <p>up</p>
. <p>over</p>

oo

A. <p>Coordinationg
conjunction&nbsp;</p>

B. <p>Correlative conjunction&nbsp;
</p>

D. <p>Conjunctive adverb</p>

A. <p>time</p>

o0

. <p>Place</p>
. <p>Frequency</p>

B. <p>to</p>
C. <p>verses</p>
D. <p>people</p>

A. <p>to</p>

. <p>for</p>
. <p>with</p>

o0

. <p>Beautiful</p>
. <p>Tall</p>
. <p>This</p>

oN@ Ny

. <p>Regular verb</p>
. <p>modal verb</p>

W >

D. <p>linking verb</p>



